AR 2D

DA

B E

125

—J4

H

~
r—

[

~
S
o

/<
30,
2 g

‘?6‘)
3,
7.55)
[ s

A

A
NV/S
&

i R
IS

H

~
=

SN,

=N

Ml

IIO,F‘-O

H

~
=

11O &+H
|l-\- ’

H

~
=

€
o

> =M

I\
VAN

B

~
=

P
b=k

7

(A |
[l
|\

S >=H

135 124 112

136 125 113

137 126 114

b =M

N|
7

Jl il

oE5<vTk—IL

r.?{ %

18<kR—IL

285<v2hk—IL

357 hk—IL

45T k—IL

H1B8<Th—IL—60X%Xx90

H

~
r—

HoBT o hk—I)L——120%x90

(]

NAOFEIR—IL (REFE2 0 c mAR)

NAOFET ER—IL (RE2 5 cmAR)

A
NS
A

2

MNAOFET R—IL (RE3 0 cmAR)

MOER< > HR—IL (AE3 5 cmAR)

MOER<HR—IL (AE4 0 c mAR)

Bt . >=H

NAOFET FR—IL (RE4 5 cmAR)

ot =i

N|
7l

MNAOFET FR—IL (RES5 0 cmAR)

MAFET HR—IL (RE6 0 c mAR)

MAFET HR—IL (RE6 5 c mAR)

NAETER—IL (RE7 0 cmAR)

NAETER—IL (RE7 5 cmAR)

NAOFET R—IL (RE8 O c mAR)

C
C
C
C
C
C
MAOE<THR—IL (RES5 5 cmAR)
C
C
C
C
C
C

NAOFET R—IL (RE8 5 c mAR)

>=H

HIK< R—IL

ook o=

KEBL<R—IL

7L
6’67

BRvhk—IL

W< k—IL

BDHFT

EEASKEY

SBKET

EEERASRKET

85 NS0
bk b 220k

ERNARKET

N|
7

WRFET

®lo|e|o|e|0|e|e|O®IO|O|OO|O|O|O|0|0|6|6|60|0|0|0|®|0|@|O0|0|®|O

RIERFEY

k=

N
a

B
12-70-1
-
T~ v
) X it Jap
W ] + &
BE M A iEs 03 CHE
R g oE i 4 ]
RN =
2250 HP 21.3 %0 10.35 ( 1.40) o3
O,
— 49.147 2
WK Syt A o
o T #+
S HoiE IR i Z
< (= =
JE >
= N

O> .>=H




